
 OLD 

This Question Paper contains Section–A 18 + Section–B 3/3 questions.

Bg ‡ÌZ-nÃ Ho$ A›VJ©V I S>–A 18 + I S>–~ 3/3 ‡ÌZ h¢ü&

Time : 3 Hours ] [ Maximum Marks : 80

g_` : 3 K Q>o ] [ nyUm™H$ : 80

Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and ‘B’.

(ii) All questions from Section ‘A’ are to be attempted.

(iii) Section ‘B’ has two options. Candidates are required to attempt questions

from one option only.

{ZX}e : (i) Bg ‡ÌZ-nÃ _| Xmo I S> h¢—I S> "A' VWm I S> "~'ü&

(ii) I S> "A' Ho$ g^r ‡ÌZm| H$mo hb H$aZm h°ü&

(iii) I S> "~' _| Xmo {dH$În h¢ü& narjm{W©`m| H$mo Ho$db EH$ {dH$În Ho$ hr ‡ÌZm| Ho$ CŒma XoZo h¢ü&

SEC TION–A

I S>–A

1. In the World Map given, eight geographical features are shown—(1) Volcanic

Mountain; (2) Mountain Range; (3) Plateau; (4) Plain; (5) Desert; (6) Sea; (7) City

and (8) Parallel of Latitude.

Write correct name of the related feature in your answer-book against each

number. ½×8=4

{XE JE gßgma Ho$ _mZ{MÃ _| AmR> ^m°Jmo{bH$ bjU {XImE JE h¢—(1) ¡dmbm_wIr nd©V; (2) nd©V
loUr; (3) nR>ma; (4) _°XmZ; (5) _ÈÒWb; (6) gmJa; (7) ZJa Am°a (8) Ajmße aoImü&

AnZr CŒma-nwpÒVH$m _| ‡À òH$ gßª`m Ho$ gm_Zo gß~ß{YV bjU H$m ghr Zm_ {b{IEü&
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2. In the given Political Outline Map of India, eight geo graph ical features

are shown—(1) Mountain; (2) River; (3) Leading Tea Producing State; (4) Iron

and Steel Centre; (5) Dam; (6) Cotton Textile Centre; (7) Seaport and

(8) Metropolitan city.

Write in your answer-book against each number the correct name of the related 

feature. ½×8=4

{XE JE ^maV Ho$ amOZr{VH$ aoIm_mZ{MÃ _| AmR> ^m°Jmo{bH$ bjU {XImE JE h¢—(1) nd©V>;
(2)  ZXr; (3) Mm` CÀnmXZ H$m AJ´Ur am¡`; (4) bmohm Am°a BÒnmV Ho$›–; (5) ~m±Y; (6) gyVr dÛ
Ho$›–; (7) g_w–r nŒmZ VWm (8) _hmZJaü&

‡À òH$ bjU H$m ghr Zm_ AnZr CŒma-nwpÒVH$m _| ‡À òH$ gßª`m Ho$ gm_Zo {b{IEü&
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3. Name the natural satellite of the earth. State any four of its characteristics.

1+2=3

n•œdr Ho$ ‡mH•${VH$ CnJ´h H$m Zm_ ~VmBEü& BgH$s {H$›ht Mma {deofVmAm| H$m CÑoI H$s{OEü&

4. Define the term ‘Environment’. Mention its four major components. 1+2=3

"n`m©daU' e„X H$s n[a^mfm Xr{OEü& BgHo$ Mma ‡_wI KQ>H$m| H$m CÑoI H$s{OEü&

5. Mention any three features of ‘Himadri Range’. 1×3=3

"{h_m{– loUr' H$s {H$›ht VrZ bjUm| H$m CÑoI H$s{OEü&

6. Write any six characteristics of ‘black soils’ of India. ½×6=3

^maV H$s "H$mbr {_{≈>`m|' H$s {H$›ht N>: {deofVmAm| H$mo {b{IEü&

7. Define the term ‘Literacy’. Write any four characteristics of literacy rate in India.

1+2=3

"gmjaVm' e„X H$s n[a^mfm Xr{OEü& ^maV _| gmjaVm Xa na H$moB© Mma {deofVmE± {b{IEü&

8. Explain the concept of ‘Natural Regions’ touching upon any three of its

characteristics. 1×3=3

"‡mH•${VH$ ‡Xoem|' H$s gßH$ÎnZm H$s Ï`mª`m {H$›ht VrZ {deofVmAm| H$s ghm`Vm go H$s{OEü&

9. Write any two main features of each of the four pressure belts found on

the earth. 1+1+1+1=4

n•œdr na nmB© OmZo dmbr Mmam| dm`wXm~ no{Q>`m| _| go ‡À òH$ H$s H$moB© Xmo _wª` {deofVmE± {b{IEü&

10. Explain four factors responsible for bringing variation in the time and size

of tides. 1×4=4

¡dma Ho$ g_` Am°a AmH$ma _| n[adV©Z Ho$ {bE CŒmaXm`r Mma H$maH$m| H$mo ÒnÔ> H$s{OEü&
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11. Why is the climate of Tiruvananthapuram different from that of Delhi? Explain

with four examples. 1×4=4

{VÈdZßWnwa_ H$s Obdm ẁ {XÑr H$s Obdm`w go {^fi ä`m| h°? Mma CXmhaUm| g{hV ÒnÔ> H$s{OEü&

12. Explain with examples any four major problems related to utilisation of water

in India. 1×4=4

^maV _| ObCn`moJ go gÂ~p›YV {H$›ht Mma ‡_wI g_Ò`mAm| H$mo CXmhaUm| g{hV ÒnÔ> H$s{OEü&

13. Study the given diagram and answer the questions that follow :

{XE JE AmaoI H$m gmdYmZrnyd©H$ A‹``Z H$s{OE Am°a {ZÂZ{b{IV ‡ÌZm| Ho$ CŒma Xr{OE :

(a) Give suitable title to the given diagram. 1

{XE JE AmaoI Ho$ {bE Cn`w∫$ erf©H$ Xr{OEü&

(b) Explain the process of rainfall systematically with the help of given

diagram. 3

{XE JE AmaoI H$s _XX go dfm© H$s ‡{H´$`m H$mo H´$_~’ Í$n go ÒnÔ> H$s{OEü&

14. “Intensity of cropping in India varies from one part to the other.” Analyse the

statement with suitable examples. 4

""^maV _| \$gbm| H$s JhZVm EH$ ^mJ go Xygao ^mJ _| {^fi nmB© OmVr h°ü&'' Cn`w∫$ CXmhaUm| g{hV Bg 
H$WZ H$m {dÌbofU H$s{OEü&
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15. What are igneous rocks? Classify igneous rocks into two groups on the basis of

their mode of occurrence. Write three characteristics of each group.

1+1+1½+1½=5

Amæo` e°b {H$go H$hVo h¢? {Z_m©U-‡{H´$`m Ho$ AmYma na Amæo` e°bm| H$mo Xmo dJm] _| ~m±{Q>Eü& ‡À òH$
dJ© H$s VrZ-VrZ {deofVmE± {b{IEü&

16. Define permanent and temporary migration and describe in brief two examples

of each. 1+2+2=5

ÒWm`r ‡dmg Am°a AÒWm`r ‡dmg H$s n[a^mfm Xr{OE Am°a ‡À òH$ H$m Xmo-Xmo CXmhaUm| g{hV gßjon _|
dU©Z H$s{OEü&

17. What is river erosion? Explain four different ways in which river erosion takes

place. 1+4=5

ZXr AnaXZ {H$go H$hVo h¢? ZXr AnaXZ Ho$ Mma {^fi {d{Y`m| H$mo ÒnÔ> H$s{OEü&

18. Explain with five examples the ill-effects of industrial development on

environment. 1×5=5

n`m©daU na Am°⁄mo{JH$ {dH$mg Ho$ Hw$‡^mdm| H$mo nm±M CXmhaUm| g{hV ÒnÔ> H$s{OEü&

SECTION–B

I S>ç~

OP TION–I

{dH$ÎnçI

( Teaching of Geography at Primary Level )

( ‡mW{_H$ ÒVa na ŷJmob-{ejU )

19. Classify human occupations into three divisions. Give one example of each

division. 1½+1½=3

_mZd Ï`dgm`m| H$mo VrZ dJm] _| {d^m{OV H$s{OEü& ‡À òH$ dJ© H$m EH$-EH$ CXmhaU Xr{OEü&
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20. How does observation method of teaching geography provide direct experience

of geographical phenomena? Explain with three examples related to

everyday life. 1×3=3

^yJmob {ejU H$s ‡ojU {d{Y {H$g ‡H$ma ^m°Jmo{bH$ KQ>ZmAm| H$m grYm AZŵ d H$amVr h°? VrZ ‡{V{XZ 
Ho$ OrdZ go OwãS>o CXmhaUm| ¤mam ÒnÔ> H$s{OEü&

21. Explain the main features of terrain of coastal strips of India. 4

^maV H$s VQ>r` n{≈>`m| Ho$ YamVb H$s _wª` {deofVmE± ÒnÔ> H$s{OEü&

OPTION–II

{dH$ÎnçII

( Geography of Tourism in India )

( ^maV H$m n`©Q>Z- ŷJmob )

19. Mention three prominent features of ‘Tirupati Tourism Zone’. 1×3=3

"{VÈn{V n ©̀Q>Z _ S>b' H$s VrZ ‡_wI {deofVmAm| H$m CÑoI H$s{OEü&

20. Explain three important negative factors which cause periodical setback to the

growth of tourist flow in India. 1×3=3

^maV _| n ©̀Q>Z Ho$ ‡dmh H$mo g_`-g_` na AdÈ’ H$aZo dmbo VrZ _hŒdnyU© ZH$mamÀ_H$ H$maH$m| H$mo
ÒnÔ> H$s{OEü&

21. How do the varied climatic conditions promote tourism in India? Explain with

four major examples. 1×4=4

^maV _| {d{dY Obdm`{dH$ XemE± n ©̀Q>Z H$mo {H$g ‡H$ma ‡mofiV H$aVr h¢? Mma ‡_wI CXmhaUm| g{hV
ÒnÔ> H$s{OEü&
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 NEW 

This Question Paper contains Section–A 20 + Section–B 4/4 questions.

Bg ‡ÌZ-nÃ Ho$ A›VJ©V I S>–A 20 + I S>–~ 4/4 ‡ÌZ h¢ü&

Time : 3 Hours ] [ Maximum Marks : 80

g_` : 3 K Q>o ] [ nyUm™H$ : 80

Note : (i) There are 24 questions in all.

(ii) All questions are compulsory.

(iii) Marks for each question are indicated against it.

(iv) Question Nos. 1 and 2 are on filling outline maps of the World and India

respectively. Each question contains 4 test-items of very short answers of

1 mark each.

(v) Question Nos. 3 to 6 are very short answer questions carrying 1 mark each.

Answer to these questions should not exceed 30 words each.

(vi) Question Nos. 7 to 11 and 21 & 22 are also very short answer questions

carrying 2 marks each. Answer to these questions should not exceed

60 words each.

(vii) Question Nos. 12 to 15 and 23 & 24 are short answer questions carrying

4 marks each. Answer to these questions should not exceed 100 words each.

(viii) Question Nos. 16 to 20 are long answer questions of 6 marks each. Answer

of each of the questions should not exceed 140 words.

(ix) Outline maps of the World and India provided to you must be attached with

your answer-book.

(x) Use of templates or stencils for drawing outline maps in illustrating your

answer is allowed.

(xi) Answer of Question Nos. 21 to 24 should be given from any one of the

Options.
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{ZX}e : (i) ‡ÌZm| H$s Hw$b gßª`m 24 h°ü&

(ii) g^r ‡ÌZ A{Zdm ©̀ h¢ü&

(iii) ‡À òH$ ‡ÌZ Ho$ gm_Zo CgHo$ {ZYm©[aV AßH$ {XE JE h¢ü&

(iv) ‡ÌZ gßª`m 1 Am°a 2 H´$_e:  gßgma Am°a ^maV Ho$ aoIm_mZ{MÃm| Ho$ ^aZo na h°ü& ‡À òH$ ‡ÌZ _| A{V
bKw CŒmam| H$s 4 narjU _X| 1 AßH$ H$s h¢ü&

(v) ‡ÌZ gßª`m 3 go 6 A{V bKwCŒmar` ‡ÌZ h¢ Am°a ‡À òH$ ‡ÌZ H$m 1 AßH$ h°ü& Eogo ‡À òH$ ‡ÌZ H$m CŒma
30 e„Xm| go A{YH$ Zht hmoZm Mm{hEü&

(vi) ‡ÌZ gßª`m 7 go 11 VH$ Am°a 21 VWm 22 ^r A{V bKwCŒmar` ‡ÌZ h¢ Am°a ‡À òH$ ‡ÌZ Ho$ 2 AßH$
h¢ü& BZ_| go ‡À`oH$ ‡ÌZ H$m CŒma 60 e„Xm| go A{YH$ Zht hmoZm Mm{hEü&

(vii) ‡ÌZ gßª`m 12 go 15 Am°a 23 VWm 24 bKwCŒmar` ‡ÌZ h¢, {OZ_| go ‡À òH$ Ho$ 4 AßH$ h¢ü& BZ ‡ÌZm| 
Ho$ CŒma 100 e„Xm| go A{YH$ Zht hmoZm Mm{hEü&

(viii) ‡ÌZ gßª`m 16 go 20 VH$ XrK©CŒmar` ‡ÌZ h¢ Am°a ‡À òH$ ‡ÌZ Ho$ 6 AßH$ h¢ü& Eogo ‡À òH$ ‡ÌZ H$m CŒma 
140 e„Xm| go A{YH$ Zht hmoZm Mm{hEü&

(ix) {XE JE gßgma Am°a ^maV Ho$ aoIm_mZ{MÃm| H$mo AnZr CŒma-nwpÒVH$m _| AdÌ` ZÀWr H$s{OEü&

(x) AnZo CŒma H$mo ÒnÔ> H$aZo Ho$ {bE aoIm_mZ{MÃ ~ZmZo Ho$ {bE gm±Mm| `m ÒQ>|{gbm| Ho$ ‡`moJ H$s AZw_{V Xr 
OmVr h°ü& 

(xi) ‡ÌZ gßª`m 21 go 24 VH$ Ho$ CŒma {H$gr EH$ {dH$În _| go Xr{OEü&

SEC TION–A

I S>–A

1. Four geographical features with serial numbers (1) to (4) are marked on the

given Political Outline Map of the World. Identify these features with the help of

the following information and write their correct names in your answer-

book against each number : 1×4=4

(1) Mountain; (2) Lava Plateau; (3) Desert; (4) Grassland.

{XE JE gßgma Ho$ amOZr{VH$ aoIm_mZ{MÃ _| Mma> ^m°Jmo{bH$ bjUm| H$mo gßª`m (1) go (4) VH$
{XIm`m J`m h°ü& BZ bjUm| H$mo {ZÂZ{b{IV OmZH$mar H$s _XX go nhMm{ZE Am°a CZHo$ ghr Zm_ AnZr 
CŒma-nwpÒVH$m _| ‡À òH$ gßª`m Ho$ gm_Zo {b{IE :

(1) nd©V; (2) bmdm nR>ma; (3) _ÈÒWb; (4) Kmg^y{_ü&
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2. Four geographical features with serial numbers (1) to (4) are marked on the

given Political Outline Map of India. Identify these features with the help of the

following information and their correct names in your answer-book against

each number : 1×4=4

(1) Mountain; (2) River; (3) Vegetation Type; (4) Major Seaport.

{XE JE ^maV Ho$ amOZr{VH$ aoIm_mZ{MÃ _| Mma> ^m°Jmo{bH$ bjUm| H$mo gßª`m (1) go (4) VH$
{XIm`m J`m h°ü& BZ bjUm| H$mo ZrMo Xr JB© OmZH$mar H$s _XX go nhMm{ZE Am°a CZHo$ ghr Zm_ AnZr 
CŒma-nwpÒVH$m _| ‡À òH$ gßª`m Ho$ gm_Zo {b{IE :

(1) nd©V>; (2) ZXr; (3) dZÒn{V ‡H$ma; (4) ‡_wI g_w–r nŒmZü&
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3. Which are the two main gases of the atmosphere? ½×2=1

dm`w_ S>b H$s Xmo ‡_wI J°g| H$m°Z-gr h¢?

4. What is heat budget? 1

D$Ó_m ~OQ> {H$go H$hVo h¢?

5. Define the term ‘permanent migration’ with an example. 1

"ÒWm`r ‡dmg' e„X H$s n[a^mfm EH$ CXmhaU g{hV Xr{OEü&

6. Name the two neighbouring countries nearest to India which have higher rank

in Human Development Index than India. ½×2=1

^maV Ho$ Xmo {ZH$Q>V_ nãS>mogr Xoem| Ho$ Zm_ ~VmBE, {OZH$m _mZd {dH$mg gyMH$mßH$ ^maV go ~ohVa h°ü&

7. What is wet farming? Mention the two major crops grown in wet-farming areas.

1+1=2

Am–© H•${f {H$go H$hVo h¢? Am–© H•${fjoÃm| _| CJmB© OmZo dmbr Xmo ‡_wI \$gbm| H$m CÑoI H$s{OEü&

8. How is an ox-bow lake formed? Explain. 2

JmoIwa Prb {H$g ‡H$ma ~ZVr h°? ÒnÔ> H$s{OEü&

9. Distinguish between mountain breezes and valley breezes by stating any two

points of each. 1×2=2

nd©V g_ra Am°a KmQ>r g_ra _| H$moB© Xmo-Xmo A›Va ÒnÔ> H$s{OEü&

10. How are Eastern Ghats differ from Western Ghats? Give two points of

distinction of each. 1×2=2

nydu KmQ>, npÌM_r KmQ>m| go {H$g ‡H$ma {^fi h¢? Xmo-Xmo A›Va ~VmBEü&

316/OSS/208A 15 [ P.T.O.



11. Why do we need water harvesting? Give any two reasons? 1×2=2

h_mao {bE ObgßJ´h H$aZm ä`m| AmdÌ`H$ h°? H$moB© Xmo H$maU Xr{OEü&

12. What are the four main branches of systematic geography? Write main feature

of each branch. 2+2=4

H´$_~’ ^yJmob H$s Mma _wª` emImE± H$m°Z-gr h¢? ‡À òH$ emIm H$s ‡_wI {deofVm ~VmBEü&

13. Define the term ‘Tides’. Explain any three factors responsible for bringing

variation in the regulation and the size of tides. 1+3=4

"¡dma-^mQ>m' e„X H$s n[a^mfm Xr{OEü& ¡dma-^mQ>m Ho$ g_` Am°a AmH$ma _| n[adV©Z Ho$ CŒmaXm`r {H$›ht 
VrZ H$maH$m| H$mo ÒnÔ> H$s{OEü&

14. “The harsh climate supports less population.” Examine the statement with

arguments. 4

""H$R>moa Obdm`w H$_ OZgßª`m H$m nmofU H$aVr h°ü&'' Bg H$WZ H$s VH©$ g{hV ›`m`gßJV g_rjm
H$s{OEü&

15. Suggest any four measures to control landslides and to mitigate their impact. 1×4=4

^yÒIbZ H$mo amoH$Zo VWm CZHo$ XwÓ‡^mdm| H$mo H$_ H$aZo Ho$ H$moB© Mma Cnm` gwPmBEü&

16. Describe with examples six points of economic significance of mountains. 1×6=6

nd©Vm| Ho$ Am{W©H$ _hŒd H$s N>: {~›XwAm| H$m CXmhaUm| g{hV dU©Z H$s{OEü&

17. Describe in brief the distribution of major abiotic resources of India. 6

^maV Ho$ ‡_wI AO°{dH$ gßgmYZm| Ho$ {dVaU H$m gßjon _| dU©Z H$s{OEü&

18. Define the term ‘Evaporation’. Explain five factors affecting the rate of

evaporation. 1+5=6

"dmÓnrH$aU' e„X H$s n[a^mfm Xr{OEü& dmÓnrH$aU H$s Xa H$mo ‡^m{dV H$aZo dmbo nm±M H$maH$m| H$s
Ï`mª`m H$s{OEü&
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19. Explain any six factors which are responsible for the centralization of

cotton-textile industry in Ahmedabad-Mumbai-Pune region. 1×6=6

Ah_Xm~mX-_wÂ~B©-nwUo ‡Xoe _| gyVr-dÛ C⁄moJ Ho$ Ho$›–rH$aU Ho$ CŒmaXm`r {H$›ht N>: H$maH$m| H$s
Ï`mª`m H$s{OEü&

20. Explain with examples the three factors which influence the type of rural

settlements in India. 2×3=6

^maV _| J´m_rU A{Ydmgm| Ho$ ‡H$mam| H$mo ‡^m{dV H$aZo dmbo VrZ H$maH$m| H$mo CXmhaUm| g{hV ÒnÔ>
H$s{OEü&

SECTION–B

I S>ç~

OPTION–I

{dH$ÎnçI

( Local Area Planning )

( ÒWmZr` joÃ {Z`moOZ )

21. Mention any two major steps needed for primary data collection. 1×2=2

‡mW{_H$ Am±H$ãS>m| Ho$ EH$ÃrH$aU Ho$ {bE AmdÌ`H$ {H$›ht Xmo gmonmZm| H$m CÑoI H$s{OEü&

22. Explain the term ‘Arithmetic Mean’ with example. 1+1=2

"AßH$J{UVr` _m‹`' e„X H$s Ï`mª`m CXmhaU g{hV H$s{OEü&

23. Describe any four basic requirements of local area planning. 1×4=4

ÒWmZr` joÃ {Z`moOZ H$s {H$›ht Mma _yb^yV AmdÌ`H$VmAm| H$m dU©Z H$s{OEü&

24. Suggest four ways for the slum area development in different cities of India.

1×4=4

^maV Ho$ {d{^fi ZJam| _| _{bZ ~ÒVr joÃ {dH$mg Ho$ {bE Mma VarHo$$ gwPmBEü&
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OPTION–II

{dH$ÎnçII

( Geography of Tourism in India )

( ^maV _| n`©Q>Z-^yJmob )

21. What is hatt tourism? 2

hmQ> n ©̀Q>Z ä`m h°?

22. Explain the term ‘Sustainable Tourism’. 2

"gVVdmhr n ©̀Q>Z' e„X H$s Ï`mª`m H$s{OEü&

23. Describe in brief the contribution of tour guides in the success of tour

programme. 4

n ©̀Q>Z H$m ©̀H´$_m| H$mo g\$b ~ZmZo _| Qy>a JmBS≤>g Ho$ `moJXmZ H$m gßjon _| dU©Z H$s{OEü&

24. How does climate play an important role as a major resource for the

development of tourism in India? Explain with suitable examples. 4

^maV _| Obdm ẁ n ©̀Q>Z {dH$mg Ho$ {bE EH$ ‡_wI gßgmYZ Ho$ Í$n _| {H$g ‡H$ma _hŒdnyU© ^y{_H$m
{Z^mVr h°? Cn`w∫$ CXmhaUm| g{hV ÒnÔ> H$s{OEü&

H H H
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